Beruncanre;

a) -10%-0,2; a) -24.0,5;
1Y 1Y

6) (—15) ; 0) (—25) ;

8) 17 — (=1)". B) (-1)° — 1°.

Y TIpOCTUTE BBHIPpAKEHH:
a) 3a?b - ba%;
6) (-0,2x?)3 - bx?;

a) 2a°b? - ba?;
6) (-0,1x%)*- 10x;

3
B) 2 ab® | - 3 a’b’.
3 2

Boruucaure a + b,a - b,a-b, a:b,
ecJIH

a=4,2.10%,
b=2,1-102

a=26,4-10%
b=1,6-10°

2
B) §a2 -zbza.
7 3

BemmoaHuTte nelcTBua:

a) x!-x; a) x3.x7;
6) y%y%; 6) y*y;
B) (-2c%). B) (—3c?)>.
Hcnoap3ya ¢CBOMCTBA CTEIEHH,
HAHUIUTE 3HAYCHHE BhIPAKEHHNA:
45 . 26 95 . 33
323 81°
Hcemoan3ysa cBOHCTBA CTEIIEeHH, HAWJIHUTE
3HaAYCeHHE BhIDAXKCHHA:
95 . 4 257 - 47
610‘ * 1013

¥ TIpoCTHTEe BhIpaKeHHE:

(-1 1y 1y 1)

(-1 (-1)(-1),

rie n — HATYpaJbHOE UHCJO.



